

**BARTLETT-JACKSON** 41989 X-A005(052)

PROJECT: BARTLETT-JACKSON

X-A005(052)

Awarded To: PIPER, R. M. INC. **STATE PROJECT NUMBER: 41989** 

141 SMITH BRIDGE RD PLYMOUTH, NH 03264

**DATE BIDS OPEN:** February 18, 2021,

Certified by: PETER.E.STAMNAS SCOPE OF WORK: Bridge Preservation efforts for NH16 over Ellis Rvr in Jackson & US302 over Stony Brk Amount: \$739,421.00

Director of Project Development

in Bartlett. **COMPLETION DATE:** October 22, 2021

LOCATION: Carroll

FED. PROJECT NUMBER:

### **Summary of Bidders**

Award Date:

Contractor	Bid Amount	Rank
PIPER, R. M. INC. 141 SMITH BRIDGE RD, PLYMOUTH NH 03264	\$739,421.00	А
SICARD INC, J P 234 GLOVER ROAD, BARTON VT 05822	\$1,025,684.50	В
COLD RIVER BRIDGES LLC  10 LANBRO LANE UNIT 2, WALPOLE NH 03608	\$1,252,892.00	С



BARTLETT-JACKSON 41989 X-A005(052)

				F	°S&E	141 SMIT	, R. M. INC. H BRIDGE RD TH, NH 03264	234 GLC	D INC, J P DVER ROAD N, VT 05822
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

							-		
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	100.00	\$5.00	\$500.00	\$10.00	\$1,000.00	\$16.00	\$1,600.00
202.7	REMOVAL OF GUARDRAIL	LF	374.00	\$5.00	\$1,870.00	\$2.50	\$935.00	\$2.00	\$748.00
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$1,400.00	\$5,600.00	\$1,450.00	\$5,800.00	\$1,590.00	\$6,360.00
403.11043	HBP-1/2" WEARING, MM	TON	115.30	\$200.00	\$23,060.00	\$220.00	\$25,366.00	\$345.00	\$39,778.50
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	.50	\$700.00	\$350.00	\$300.00	\$150.00	\$5,000.00	\$2,500.00
403.16	PAVEMENT JOINT ADHESIVE	LF	838.00	\$2.00	\$1,676.00	\$5.00	\$4,190.00	\$5.00	\$4,190.00
403.19	HBP-TEMPORARY	TON	9.70	\$250.00	\$2,425.00	\$500.00	\$4,850.00	\$300.00	\$2,910.00
403.21053	HBP-3/8", MACHINE METHOD (BRIDGE BASE)	TON	33.10	\$250.00	\$8,275.00	\$270.00	\$8,937.00	\$300.00	\$9,930.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	420.00	\$3.50	\$1,470.00	\$5.00	\$2,100.00	\$10.00	\$4,200.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	109.00	\$15.00	\$1,635.00	\$50.00	\$5,450.00	\$100.00	\$10,900.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	950.00	\$30.00	\$28,500.00	\$28.00	\$26,600.00	\$12.00	\$11,400.00
511.0001	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	83.00	\$25.00	\$2,075.00	\$30.00	\$2,490.00	\$100.00	\$8,300.00
511.0002	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	323.00	\$25.00	\$8,075.00	\$30.00	\$9,690.00	\$100.00	\$32,300.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	20.10	\$325.00	\$6,532.50	\$400.00	\$8,040.00	\$625.00	\$12,562.50
511.021	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS (OVERHEAD WORK)	SY	17.10	\$500.00	\$8,550.00	\$750.00	\$12,825.00	\$1,300.00	\$22,230.00
511.031	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS (SELF-SPANNING DECK)	SY	24.20	\$1,000.00	\$24,200.00	\$900.00	\$21,780.00	\$1,200.00	\$29,040.00
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	.70	\$1,000.00	\$700.00	\$1,500.00	\$1,050.00	\$6,500.00	\$4,550.00
512.0202	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	1.20	\$1,500.00	\$1,800.00	\$1,500.00	\$1,800.00	\$6,500.00	\$7,800.00
520.01	CONCRETE CLASS AA	CY	2.50	\$1,000.00	\$2,500.00	\$1,200.00	\$3,000.00	\$1,000.00	\$2,500.00
520.02012	CONCRETE CLASS AA, ABOVE FOOTINGS (ABUT/WALL/PIER REPAIR)	CY	.30	\$2,000.00	\$600.00	\$3,500.00	\$1,050.00	\$14,600.00	\$4,380.00
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	9.60	\$2,000.00	\$19,200.00	\$1,200.00	\$11,520.00	\$1,400.00	\$13,440.00
521.22	FAST-SET CONCRETE PATCHING MORTAR (VERTICAL AND OVERHEAD)	CF	43.10	\$1,250.00	\$53,875.00	\$600.00	\$25,860.00	\$325.00	\$14,007.50
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	25.00	\$125.00	\$3,125.00	\$100.00	\$2,500.00	\$75.00	\$1,875.00



BARTLETT-JACKSON 41989 X-A005(052)

					PS&E	PIPER, R. M. INC. 141 SMITH BRIDGE RD PLYMOUTH, NH 03264		234 GL	RD INC, J P OVER ROAD NN, VT 05822
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	406.00	\$30.00	\$12,180.00	\$34.00	\$13,804.00	\$37.00	\$15,022.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	277.00	\$25.00	\$6,925.00	\$40.00	\$11,080.00	\$26.00	\$7,202.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	178.00	\$125.00	\$22,250.00	\$120.00	\$21,360.00	\$125.00	\$22,250.00
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$380.00	\$1,520.00
571.1	REPAIRING AND POINTING STONE MASONRY	SY	120.00	\$300.00	\$36,000.00	\$200.00	\$24,000.00	\$518.00	\$62,160.00
571.91	STONE MASONRY (HIGH PRESSURE WASH)	U	1.00	\$10,000.00	\$10,000.00	\$15,500.00	\$15,500.00	\$6,210.00	\$6,210.00
604.0007	POLYETHYLENE LINER	EA	2.00	\$250.00	\$500.00	\$250.00	\$500.00	\$250.00	\$500.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	2.00	\$700.00	\$1,400.00	\$500.00	\$1,000.00	\$1,688.00	\$3,376.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$3,300.00	\$13,200.00	\$3,500.00	\$14,000.00	\$3,624.00	\$14,496.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	150.00	\$25.00	\$3,750.00	\$26.50	\$3,975.00	\$28.00	\$4,200.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	560.00	\$40.00	\$22,400.00	\$25.00	\$14,000.00	\$44.00	\$24,640.00
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	410.00	\$75.00	\$30,750.00	\$75.00	\$30,750.00	\$44.00	\$18,040.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$4,500.00	\$18,000.00	\$4,000.00	\$16,000.00	\$2,000.00	\$8,000.00
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$17,200.00	\$17,200.00	\$56,000.00	\$56,000.00	\$68,000.00	\$68,000.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$17,155.00	\$17,155.00	\$60,000.00	\$60,000.00	\$68,000.00	\$68,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
618.7	FLAGGERS	HR	300.00	\$40.00	\$12,000.00	\$40.00	\$12,000.00	\$50.00	\$15,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$57,500.00	\$57,500.00	\$113,150.00	\$113,150.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$3,600.00	\$14,400.00	\$3,600.00	\$14,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	170.00	\$3.00	\$510.00	\$2.50	\$425.00	\$3.00	\$510.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,235.00	\$0.60	\$1,341.00	\$1.00	\$2,235.00	\$1.00	\$2,235.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,126.00	\$2.50	\$12,815.00	\$2.50	\$12,815.00	\$3.00	\$15,378.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	110.00	\$10.00	\$1,100.00	\$10.00	\$1,100.00	\$12.00	\$1,320.00
632.1304	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 4" LINE	LF	3,398.00	\$2.50	\$8,495.00	\$3.00	\$10,194.00	\$3.00	\$10,194.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	100.00	\$6.00	\$600.00	\$10.00	\$1,000.00	\$8.00	\$800.00

# New Hampshire Department of Transportation

## **ABC Bid Data**

BARTLETT-JACKSON 41989 X-A005(052)

\$1,025,684.50

				PS&E		141 SMIT	, R. M. INC. H BRIDGE RD TH, NH 03264	SICARD INC, J P 234 GLOVER ROAD BARTON, VT 05822	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
645.531	SILT FENCE	LF	400.00	\$6.00	\$2,400.00	\$3.00	\$1,200.00	\$2.00	\$800.00
670.104	TEMPORARY PORTABLE LIGHTING	U	4.00	\$2,500.00	\$10,000.00	\$4,000.00	\$16,000.00	\$5,250.00	\$21,000.00
692.	MOBILIZATION	U	1.00	\$45,300.00	\$45,300.00	\$105,000.00	\$105,000.00	\$226,780.00	\$226,780.00
698.13	FIELD OFFICE TYPE C	MON	8.00	\$1,600.00	\$12,800.00	\$1,200.00	\$9,600.00	\$1,000.00	\$8,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
			Totals:	\$610,664.50		\$739,421.00			\$1,025,684.50
			Alt. Totals:						

Totals:

\$610,664.50

\$739,421.00



BARTLETT-JACKSON 41989 X-A005(052)

				ı	PS&E	10 LANBR	R BRIDGES LLC D LANE UNIT 2 .E, NH 03608		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

#### **Items**

	I	I	I					1
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	100.00	\$5.00	\$500.00	\$10.00	\$1,000.00	
202.7	REMOVAL OF GUARDRAIL	LF	374.00	\$5.00	\$1,870.00	\$15.00	\$5,610.00	
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$1,400.00	\$5,600.00	\$1,500.00	\$6,000.00	
403.11043	HBP-1/2" WEARING, MM	TON	115.30	\$200.00	\$23,060.00	\$300.00	\$34,590.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	.50	\$700.00	\$350.00	\$500.00	\$250.00	
403.16	PAVEMENT JOINT ADHESIVE	LF	838.00	\$2.00	\$1,676.00	\$8.00	\$6,704.00	
403.19	HBP-TEMPORARY	TON	9.70	\$250.00	\$2,425.00	\$350.00	\$3,395.00	
403.21053	HBP-3/8", MACHINE METHOD (BRIDGE BASE)	TON	33.10	\$250.00	\$8,275.00	\$350.00	\$11,585.00	
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	420.00	\$3.50	\$1,470.00	\$8.00	\$3,360.00	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	109.00	\$15.00	\$1,635.00	\$20.00	\$2,180.00	
417.	COLD PLANING BITUMINOUS SURFACES	SY	950.00	\$30.00	\$28,500.00	\$20.00	\$19,000.00	
511.0001	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	83.00	\$25.00	\$2,075.00	\$100.00	\$8,300.00	
511.0002	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	323.00	\$25.00	\$8,075.00	\$100.00	\$32,300.00	
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	20.10	\$325.00	\$6,532.50	\$1,500.00	\$30,150.00	
511.021	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS (OVERHEAD WORK)	SY	17.10	\$500.00	\$8,550.00	\$3,000.00	\$51,300.00	
511.031	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS (SELF-SPANNING DECK)	SY	24.20	\$1,000.00	\$24,200.00	\$3,000.00	\$72,600.00	
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	.70	\$1,000.00	\$700.00	\$6,500.00	\$4,550.00	
512.0202	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	1.20	\$1,500.00	\$1,800.00	\$7,500.00	\$9,000.00	
520.01	CONCRETE CLASS AA	CY	2.50	\$1,000.00	\$2,500.00	\$5,000.00	\$12,500.00	
520.02012	CONCRETE CLASS AA, ABOVE FOOTINGS (ABUT/WALL/PIER REPAIR)	CY	.30	\$2,000.00	\$600.00	\$10,000.00	\$3,000.00	
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	9.60	\$2,000.00	\$19,200.00	\$3,000.00	\$28,800.00	
521.22	FAST-SET CONCRETE PATCHING MORTAR (VERTICAL AND OVERHEAD)	CF	43.10	\$1,250.00	\$53,875.00	\$500.00	\$21,550.00	
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	25.00	\$125.00	\$3,125.00	\$100.00	\$2,500.00	



BARTLETT-JACKSON 41989 X-A005(052)

		_							
				'	PS&E	10 LANBR	R BRIDGES LLC O LANE UNIT 2 LE, NH 03608		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	406.00	\$30.00	\$12,180.00	\$75.00	\$30,450.00		
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	277.00	\$25.00	\$6,925.00	\$15.00	\$4,155.00		
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	178.00	\$125.00	\$22,250.00	\$200.00	\$35,600.00		
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$500.00	\$2,000.00	\$1,000.00	\$4,000.00		
571.1	REPAIRING AND POINTING STONE MASONRY	SY	120.00	\$300.00	\$36,000.00	\$600.00	\$72,000.00		
571.91	STONE MASONRY (HIGH PRESSURE WASH)	U	1.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00		
604.0007	POLYETHYLENE LINER	EA	2.00	\$250.00	\$500.00	\$500.00	\$1,000.00		
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	2.00	\$700.00	\$1,400.00	\$1,153.00	\$2,306.00		
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$3,300.00	\$13,200.00	\$4,000.00	\$16,000.00		
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	150.00	\$25.00	\$3,750.00	\$30.00	\$4,500.00		
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	560.00	\$40.00	\$22,400.00	\$75.00	\$42,000.00		
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	410.00	\$75.00	\$30,750.00	\$75.00	\$30,750.00		
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$4,500.00	\$18,000.00	\$7,500.00	\$30,000.00		
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$17,200.00	\$17,200.00	\$95,000.00	\$95,000.00		
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$17,155.00	\$17,155.00	\$95,000.00	\$95,000.00		
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
618.7	FLAGGERS	HR	300.00	\$40.00	\$12,000.00	\$45.00	\$13,500.00		
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$50,000.00	\$50,000.00	\$105,000.00	\$105,000.00		
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$2,000.00	\$8,000.00	\$10,000.00	\$40,000.00		
628.2	SAWED BITUMINOUS PAVEMENT	LF	170.00	\$3.00	\$510.00	\$10.00	\$1,700.00		
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,235.00	\$0.60	\$1,341.00	\$1.00	\$2,235.00		
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,126.00	\$2.50	\$12,815.00	\$3.00	\$15,378.00		
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	110.00	\$10.00	\$1,100.00	\$10.00	\$1,100.00		
632.1304	BLACKOUT PAVEMENT MARKING TAPE, TYPE I (REMOVABLE), 4" LINE	LF	3,398.00	\$2.50	\$8,495.00	\$3.00	\$10,194.00		
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	100.00	\$6.00	\$600.00	\$10.00	\$1,000.00		

# New Hampshive Department of Transportation

## **ABC Bid Data**

BARTLETT-JACKSON 41989 X-A005(052)

				PS&E		COLD RIVER BRIDGES LLC 10 LANBRO LANE UNIT 2 WALPOLE, NH 03608		10 LANBRO LANE UNIT 2		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
645.531	SILT FENCE	LF	400.00	\$6.00	\$2,400.00	\$2.00	\$800.00			
670.104	TEMPORARY PORTABLE LIGHTING	U	4.00	\$2,500.00	\$10,000.00	\$7,500.00	\$30,000.00			
692.	MOBILIZATION	U	1.00	\$45,300.00	\$45,300.00	\$125,000.00	\$125,000.00			
698.13	FIELD OFFICE TYPE C	MON	8.00	\$1,600.00	\$12,800.00	\$3,000.00	\$24,000.00			
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00			
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00			
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00			
	Totals:				\$610,664.50		\$1,252,892.00			

Totals: \$610,664.50 \$1,252,892.00

Alt. Totals: \$610,664.50 \$1,252,892.00



BARTLETT-JACKSON 41989 X-A005(052)

				A-Bidd	der	PS8	<b>RE</b>	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.881	INVASIVE SPECIES CONTROL TYPE I	SY	100.00	\$10.00	\$1,000.00	\$5.00	\$500.00	\$500.00
202.7	REMOVAL OF GUARDRAIL	LF	374.00	\$2.50	\$935.00	\$5.00	\$1,870.00	(\$935.00)
203.5561	EAGRT PLATFORM PREFERRED	U	4.00	\$1,450.00	\$5,800.00	\$1,400.00	\$5,600.00	\$200.00
403.11043	HBP-1/2" WEARING, MM	TON	115.30	\$220.00	\$25,366.00	\$200.00	\$23,060.00	\$2,306.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	.50	\$300.00	\$150.00	\$700.00	\$350.00	(\$200.00)
403.16	PAVEMENT JOINT ADHESIVE	LF	838.00	\$5.00	\$4,190.00	\$2.00	\$1,676.00	\$2,514.00
403.19	HBP-TEMPORARY	TON	9.70	\$500.00	\$4,850.00	\$250.00	\$2,425.00	\$2,425.00
403.21053	HBP-3/8", MACHINE METHOD (BRIDGE BASE)	TON	33.10	\$270.00	\$8,937.00	\$250.00	\$8,275.00	\$662.00
403.26	PAVEMENT JOINT ADHESIVE (BRIDGE BASE)	LF	420.00	\$5.00	\$2,100.00	\$3.50	\$1,470.00	\$630.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	109.00	\$50.00	\$5,450.00	\$15.00	\$1,635.00	\$3,815.00
417.	COLD PLANING BITUMINOUS SURFACES	SY	950.00	\$28.00	\$26,600.00	\$30.00	\$28,500.00	(\$1,900.00)
511.0001	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	83.00	\$30.00	\$2,490.00	\$25.00	\$2,075.00	\$415.00
511.0002	CONCRETE BRIDGE DECK PAVEMENT REMOVAL (F)	SY	323.00	\$30.00	\$9,690.00	\$25.00	\$8,075.00	\$1,615.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	20.10	\$400.00	\$8,040.00	\$325.00	\$6,532.50	\$1,507.50

Wednesday, March 17, 2021 Page 8 of 11



BARTLETT-JACKSON 41989 X-A005(052)

				A-Bidd	der	PS8	λΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
511.021	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS (OVERHEAD WORK)	SY	17.10	\$750.00	\$12,825.00	\$500.00	\$8,550.00	\$4,275.00
511.031	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS (SELF-SPANNING DECK)	SY	24.20	\$900.00	\$21,780.00	\$1,000.00	\$24,200.00	(\$2,420.00)
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	.70	\$1,500.00	\$1,050.00	\$1,000.00	\$700.00	\$350.00
512.0202	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	1.20	\$1,500.00	\$1,800.00	\$1,500.00	\$1,800.00	\$0.00
520.01	CONCRETE CLASS AA	CY	2.50	\$1,200.00	\$3,000.00	\$1,000.00	\$2,500.00	\$500.00
520.02012	CONCRETE CLASS AA, ABOVE FOOTINGS (ABUT/WALL/PIER REPAIR)	CY	.30	\$3,500.00	\$1,050.00	\$2,000.00	\$600.00	\$450.00
520.02013	CONCRETE CLASS AA, ABOVE FOOTINGS (FULL DECK REPAIR)	CY	9.60	\$1,200.00	\$11,520.00	\$2,000.00	\$19,200.00	(\$7,680.00)
521.22	FAST-SET CONCRETE PATCHING MORTAR (VERTICAL AND OVERHEAD)	CF	43.10	\$600.00	\$25,860.00	\$1,250.00	\$53,875.00	(\$28,015.00)
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	25.00	\$100.00	\$2,500.00	\$125.00	\$3,125.00	(\$625.00)
538.5	BARRIER MEMBRANE, HEAT WELDED (F)	SY	406.00	\$34.00	\$13,804.00	\$30.00	\$12,180.00	\$1,624.00
540.512	GALVANIC CORROSION PROTECTION SYSTEM (DISCRETE ANODES)	EA	277.00	\$40.00	\$11,080.00	\$25.00	\$6,925.00	\$4,155.00
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	178.00	\$120.00	\$21,360.00	\$125.00	\$22,250.00	(\$890.00)
565.81	REHABILITATION OF BRIDGE APPROACH RAIL	U	4.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$0.00
571.1	REPAIRING AND POINTING STONE MASONRY	SY	120.00	\$200.00	\$24,000.00	\$300.00	\$36,000.00	(\$12,000.00)
571.91	STONE MASONRY (HIGH PRESSURE WASH)	U	1.00	\$15,500.00	\$15,500.00	\$10,000.00	\$10,000.00	\$5,500.00
604.0007	POLYETHYLENE LINER	EA	2.00	\$250.00	\$500.00	\$250.00	\$500.00	\$0.00

Wednesday, March 17, 2021 Page 9 of 11



BARTLETT-JACKSON 41989 X-A005(052)

				A-Bid	der	PS8	ßЕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	2.00	\$500.00	\$1,000.00	\$700.00	\$1,400.00	(\$400.00)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	4.00	\$3,500.00	\$14,000.00	\$3,300.00	\$13,200.00	\$800.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	150.00	\$26.50	\$3,975.00	\$25.00	\$3,750.00	\$225.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	560.00	\$25.00	\$14,000.00	\$40.00	\$22,400.00	(\$8,400.00)
606.41741	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL - BRIDGE	LF	410.00	\$75.00	\$30,750.00	\$75.00	\$30,750.00	\$0.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	4.00	\$4,000.00	\$16,000.00	\$4,500.00	\$18,000.00	(\$2,000.00)
616.171	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$56,000.00	\$56,000.00	\$17,200.00	\$17,200.00	\$38,800.00
616.172	PORTABLE TRAFFIC SIGNALS (PTS) SYSTEM	U	1.00	\$60,000.00	\$60,000.00	\$17,155.00	\$17,155.00	\$42,845.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
618.7	FLAGGERS	HR	300.00	\$40.00	\$12,000.00	\$40.00	\$12,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$57,500.00	\$57,500.00	\$50,000.00	\$50,000.00	\$7,500.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	4.00	\$3,600.00	\$14,400.00	\$2,000.00	\$8,000.00	\$6,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	170.00	\$2.50	\$425.00	\$3.00	\$510.00	(\$85.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	2,235.00	\$1.00	\$2,235.00	\$0.60	\$1,341.00	\$894.00
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	5,126.00	\$2.50	\$12,815.00	\$2.50	\$12,815.00	\$0.00

Wednesday, March 17, 2021 Page 10 of 11



BARTLETT-JACKSON 41989 X-A005(052)

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	110.00	\$10.00				
632.1304	BLACKOUT PAVEMENT MARKING TAPE, TYPE (REMOVABLE), 4" LINE	LF	3,398.00	\$3.00	\$10,194.00	\$2.50	\$8,495.00	\$1,699.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	100.00	\$10.00	\$1,000.00	\$6.00	\$600.00	\$400.00
645.531	SILT FENCE	LF	400.00	\$3.00	\$1,200.00	\$6.00	\$2,400.00	(\$1,200.00)
670.104	TEMPORARY PORTABLE LIGHTING	U	4.00	\$4,000.00	\$16,000.00	\$2,500.00	\$10,000.00	\$6,000.00
692.	MOBILIZATION	U	1.00	\$105,000.00	\$105,000.00	\$45,300.00	\$45,300.00	\$59,700.00
698.13	FIELD OFFICE TYPE C	MON	8.00	\$1,200.00	\$9,600.00	\$1,600.00	\$12,800.00	(\$3,200.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	8,000.00	\$1.00	\$8,000.00	\$1.00	\$8,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00

**Total:** \$739,421.00 \$610,664.50 \$128,756.50

Wednesday, March 17, 2021 Page 11 of 11